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১ পািনর কৃĜন/ব�াবতƳন ªণাº কত? 
Modulus of rigidity of water is ____________ 

 

২ 

 

িচেø, অ�াকুিরয়ােম রাখা মাছিট যিদ Ʊদয়ােলর িদেক 4cm/s Ʊবেগ 

Ʊযেত থােক তাহেল বাইের থাকা একজন দশƳেকর কােছ মাছিটর Ʊবগ 

কত? পািনর পরম Ĵিতসরণাº 4/3। 
As shown in the figure, a fish is going towards the wall of 
aquarium with 4cm/s speed. What is the speed of that fish 
for an observer outside? Absolute refractive index of water 
is 4/3. 

 

৩ একিট ÞাĬফরমােরর মুখ� কুëলীর পাক সংখ�া 500 ও Ʊগৗণ কুëলীর পাক সংখ�া 250। যিদ মুখ� কুëলীেত 220V 

DC িবভব Ʊদওয়া হয়, তেব Ʊগৗণ কুëলীেত কত িবভব পাওয়া যােব? 
A transformer consists of 500 turns in primary winding and 250 turns in secondary winding. If 
220V DC voltage is applied at primary winding, then what is the output voltage at secondary 
winding? 

 

৪ 

 

িচেø, 16g ভেরর একিট বুেলট v Ʊবগ িনেয় Ʊদালেকর 8g 

ভেরর একিট বেবর মধ�িদেয় সŐূণƳŜেপ অিত�ম কের। 

বুেলটিট v/2 Ʊবেগ িনগƳত হয়। Ʊদালেকর ববিট একিট 

অনমনীয়,নগণ� ভর ও 0.1m  ƲদঘƳ�িবিশŻ একিট রেডর 

সােথ ঝুলােনা আেছ। v এর মান সবƳিনŏ কত হেল, 

Ʊদালেকর ববিট একিট উŬŔ বৃóাকার পেথ ঘুরেব?[g=10 
ms-2] 
As shown in figure, a bullet of mass 16g and 
speed v passes completely through a pendulum 
bob of mass 8g. The bullet emerges with a speed 
v/2. The pendulum bob is suspended by a stiff rod 
of length 0.1m and a negligible mass. What is the 
minimum value of v such that the pendulum bob 
will barely swing through a complete vertical 
circle? [g=10 ms-2] 

 

৫ 

 

িচেø, চারিট িভĨ ধাতুর Ʋতির একিট ňক আেছ যার ĴƐেÅেদর 

Ʊ¢øফল 2m2। B ও C অংেশর ĴƐেÅেদর Ʊ¢øফল সমান। 

ধাতুªেলার তাপ পিরবাহকü যথা�েম KA=100, KB=150, 

KC=50, KD=200 SI Unit। সাম�াবƐায় ňকিটর মধ� িদেয় 

পিরবহন পĆিতেত তাপ সÕালেনর হার কত? 
In the diagram, there is a block with four different types of 
materials and 2m2 cross-sectional area. B and C have same 
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cross-sectional area. Thermal conductivity of materials are 
KA=100, KB=150, KC=50, KD=200 SI Unit respectively. 
Determine the rate of energy transfer by conduction 
through the block in the steady-state condition. 

৬ 

 

একিট ভরহীন সুতা িদেয় 10cm ব�াসােধƳর ও 300g ভেরর একিট সুষম চাকিতেক 

প�াঁচােনা হল। চাকিতিটেক Ʊছেড় Ʊদওয়া হল, যখন সুতািট উŬŔভােব থােক এবং এর 

উপেরর ĴাĜ বাঁধা থােক। এই অবƐায় সুতার টান িনণƳয় কর।[g=10 ms-2] 
A string is wound around a uniform disk of radius 10cm and mass 300g. The 
disk is released from rest when the string is vertical and its top end is tied to a 
fixed bar. Determine the tension in the string. [g=10 ms-2] 

 

৭ 

 

িচেø, ঘষƳণহীন তেলর উপর আনুভূিমক বরাবর A ňকিট সরল 

ছিĢত গিত ĴাĮ হয় যার কŐাº 2 Hz । ňক B, এর উপর 

িƐর থােক এবং দুিট ňেকর তেলর মধ�কার িƐিত ঘষƳণ ªনাº 

0.5। এই সরল ছিĢত ƒĢেনর িবƌার সেবƳাÄ কত পযƳĜ 

হেল B ňকিট A এর সােপে¢ িƐর থাকেব? [g=10 ms-2] 
As shown in the figure, a large block A executes 
horizontal simple harmonic motion as it slides across a 
frictionless surface with a frequency 2 Hz. Block B 
rests on it and the coefficient of static friction between 
the two is 0.5. What maximum amplitude of 
oscillation can the system have if block B is not to 
slip? [g=10 ms-2] 

 

৮ 5m/s সমেবেগ চলমান একিট Þাক Ʊথেক 10m/s Ʊবেগ Þােকর Ʊবেগর িদেকর সােথ 300 Ʊকােণ একিট বল িনে¢প 

করা হল। বলিটর পাŬা কত? [g=10 ms-2] 
From a truck with 5m/s uniform velocity, a ball with 10m/s initial velocity and 300 angle with the 
direction of truck’s motion is thrown. Determine the range of ball. [g=10 ms-2] 

 

৯ 

 

িচেø, দুিট তারার ভর যথা�েম 2×108kg  ও 4×104kg, যারা তােদর 

ভরেকেģর সােপে¢ বৃóাকার পেথ ঘূণƳায়মান। এেদর মধ�বতƳী দূরü 640 km। 

²হ দুিটর পযƳায়কাল িনণƳয় কর।[G = 6.673×10-11 N.m2/kg2] 
Two stars of masses 2×108kg and 4×104kg, separated by a distance 
640 km revolve in circular orbits about their center of mass. 
Determine the time period of stars. [G = 6.673×10-11 N.m2/kg2] 

 

১০ ∆ABC এ AB=3cm, BC=4cm এবং AC=5cm। B Ʊত -10C এর একিট িবĢু আধান আেছ। +5C এর 

অপর একিট িবĢু আধানেক ŭন� মাধ�েম A Ʊথেক C Ʊত িনেয় Ʊযেত কােজর পিরমাণ কত? 
For ∆ABC, AB=3cm, BC=4cm and AC=5cm. There is a point charge of -10C at B. Determine the 
amount of work to be done to take a +5C point charge from A to C in vacuum.     

 

 


